
ED800L / ED600L

Adapt II Single Leg

18.08.2014

1

Used to build

Adapt II Single Desk









ED800L - 800mm Leg Shown

Adapt II Side by Side Desk



2






























































































































Please check that you have all the components

1

DESK TOP PACK

( Number of desk tops is dependant on configuration )

2

LEG PACK ( ED800L / ED600L)

( Number of legs is dependant on configuration )

3

BEAM PACK

( Requires 1 beam per desk top )

1200mm = ED12BM

1400mm = ED14BM

1600mm = ED16BM

FITTINGS SUPPLIED WITH LEG

2x

2x

4x

4x

Leg Spacer Block

Beam Infill Block

M6 x 60mm Connect Bolt

M6 x 25mm Connect Bolt

3

800mm Deep Tops

1200mm = ED128T

1400mm = ED148T

1600mm = ED168T

600mm Deep Tops

1200mm = ED126T

1400mm = ED146T

1600mm = ED166T



1

















2

3













4x

4x

Single Desk Assembly

M6 x 25mm Connect Bolt

M6 x 25mm Connect Bolt

4



4







5











6













8x

M6 x 60mm Connect Bolt

Leg Spacer Block

4x

5




























1

















2

3













4x

2x

Multiple Desk Assembly

M6 x 25mm Connect Bolt

M6 x 25mm Connect Bolt

6



4













2x

5













6

4x







M6 x 25mm Connect Bolt

M6 x 25mm Connect Bolt

Leg Spacer Block

6x

7










7















8













12x

M6 x 60mm Connect Bolt

8


































	ED800L_ED600L - Instruction-PAGE 1
	ED800L_ED600L - Instruction-PAGE 2
	ED800L_ED600L - Instruction-PAGE 3
	ED800L_ED600L - Instruction-PAGE 4
	ED800L_ED600L - Instruction-PAGE 5
	ED800L_ED600L - Instruction-PAGE 6
	ED800L_ED600L - Instruction-PAGE 7
	ED800L_ED600L - Instruction-PAGE 8

